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S.E. (Information Technology) EXAMINATION, 2006
MICROPROCESSOR SYSTEMS
(2003 COURSE)
Time : Three Hours Maximum Marks : 100
N.B. :— (1) Answers to the two Sections should be written in separate
i answer-books.
(i) In Section I attempt Question Nos. 1 or 2, 3 or 4, 5
or 6, and in Section II attempt Question Nos. 7 or 8,
9 or10, 11 or 12
(iii) Neat diagrams must be drawn wherever necessary.
(iv) Figures to the right indicate full marks.
(v) Assume suitable data, if necessary.

SECTION 1

1. (a) What is the role of Bus Interface Unit (BIU) and queue inside
BIU ? Explain. If CS = 2000 H and IP = 0200 H, what will

be the effective address of the instruction ? Explain the advantages

of segmentation. [10]

(b) With the help of timing diagram explain the basic read operation

of a machine cycle. Show the necessary signals in your timing

diagram. : ' [8]

Or
2. (a) With the help of a block diagram explain the basic minimum
mode of 8086. Show necessary supporting chips to build the

system. [10]
(b) In what way is the processor 80386 different than 8086 ? Explain.
(8}

3. (@)  With the help of suitable examples explain the following addressing
modes of processor 8086 : [8]
(i) Base Index

PTO
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(ii) Relative Base Index (with 16 bit displacement)

(iii) Indirect

(iv) Direct.

How are the NEAR and FAR procedures executed ? How will
you write them in your program ? Explain with a suitable
example. (8]

Or
What is the difference between INT 21 H function 01 H and
function 08 H ? How and when will you use these functions
in your program ? [8]
Write a assembly program using 8086 processor instruction to
multiply two 16-bit hex numbers stored in data segment. Store
your result in data segment. Write comment for each of your
instructions. i8]

How hardware interrupts coming on INTR are handled by processor

8086 ? Explain with the help of suitable example. (8]
Draw and explain the block diagram of PIC 8259. [8]
Or

Explain the following interrupt types of 8086 system :
Type_0, Type-1, Type-3
where the starting address of ISR of these interrupts are stored

in IVT ? : 1101

Draw and explain the block diagram of PIC 8254. (6]
SECTION 1I

Explain the Control Word format of PPI 8255. (8]

With the help of a diagram explain 8 x 8 keyboard interfacing.
How will you use 8255 for this interface ? Explain with the

help of suitable algorithm to detect the key pressed and its

scan code. }[10]
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Or
Explain the handshaking signals used in printer interface. Which

8255 mode is suitable for this operation. Explain. [12]
What is RS 232 interface ? What is null modem ? Explain
various signals associated with RS 232 interface. [6]

What is TLB ? Explain the use of TLB while accessing the
memory. [6]
What do you mean by paging ? Assume that paging is enabled.
Explain the virtual address translation process to access operand

from the memory. ’ [10]
Or

What do you mean by confirming code ? Explain. Is there

any alternative for this mechanism ? Explain. [10]

What is virtual 8086 mode ? Explain in short. (6]

What is the difference among faults, interrupts, traps and aborts ?

Explain with suitable examples. (8]
What is the use of TSS in task switching ? Explain the details
of TSS. (8]
Or
Explain various architectural changes that are made in Pentium
Processor with respect to processor 80386. (8]
What is IDT ? Explain its role while handling the interrupts
in 80386 system. [8]
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